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e Consumer surplus measure I@f@%@'sfactlon that consumers
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* To find CS, we need to find the area under the demand curve - using

definite integration

€S = foqof(Q) dq — pogo-

f(q) is the inverse demand function, while pyq, represents total

expenditure on the good.

 If you are given the demand function (i.e. ¢ = f(p)), first rewrite
to obtain the inverse demand function (p = g(q)), before

obtaining integral...
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* Producer surplus meaﬂ.\eNQ‘net TA?ﬁt the producers function
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* To find PS, we need to find the area above the supply curve A
- again use definite integration. See Fig. 18.8 v prodqurs’ surplus =
Podo ~ [[3q + 5]dq
PS = poqo — [;° 9(q) dq. J :
* where pyqy is total income received by producers and g(q) 0 /L @ q
is the inverse supply function 9

({[3q+ 5]dq

* If you are given the supply function (i.e.q = h(p)), first find
the inverse supply function (p = g(q)) before finding the

definite integral.



